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1‘]

1.2

1.3

®H—-E R B

BT HAER.:
(1) le <53
(2> |x—1]<0,01;
(3) |2x—3| <3
(1) x2<9
(5) |x|>4;
(6) 0<<(x —2)°<4;
(7) x>,

8 |1+x |>1+x

o |x+1 +|x —1 <4y
(11) |x—2 - |x]|>1;
(12) 3% +2|>25x +1,
IFAESR
x4+ x| \® x— || 2=' 2
( 2 ) +( 2 ) *o
B ERETRIHER:
(1) lxyl=2xy;
(2) & x*—2>4x%,
x?.

L ._1>4




8y & [al>]b], W ae>b,
1.4 R |ab] o+ b2,
L5 BB x, Ja', (Jx ), |x|REME.
1.6 % fX)=x+1, epx)=x—2, BHE
[F 0+ @) = [f O] + lp()],
1.7 % fo=x, ox)=x—3, MRS
[F(x)—=p(x)> |f(x)] — lp{x)] .

—. BEBRE
— lx—2

1.8 #H f(x)— x+1

/Tk f(2), f(_Z), f(O), f(a)’ f(ﬂ-{*b).
1-9 E Qg(x)zzx_z’

R op(2), p(—2), o), tp(--s—)

2 L

1.10 f(x)=arcsinx,

Fo. -, (430, (=22 ). r .

Fof

(%)= —;- arc cosi;,

G(0), G(1), G2, G(—=J3), G(—2).
Flx)=x%+],

FOxHRT F(x)12,

f(x)=x2—3x+7,

f(x+A4x), Hx+dx)— f(x),

f(x)=}]:"

1.12

FOM RN NN

(x+d%)—f(x),



LIV

1.181%

Bz

16 1%

1 BY

1.17 &
i
1.18 1%
iEH
1.19 &

sinx

FOy=0rsa
(50 1(3=)=.
fay=atr+ L+ Sase,
ro=s(3).

p(Z)y=2°-582,
p(—Z)=—p(Z),
F(x)=x"+cosx,
F(x)=F(—x),
Y(x)=2sinx —3cosx, 7k AH
plx+2nm)=y(x) '

Hrp n B2,

1,20 &
B

(2}
1.21 &
(1)
2
1.22 %
A
1.23 &

_F(x)

F(x)=ex’ ﬁﬂﬂ!
Fix) « F(g)y=F(x+y);.

Fap ~FeE-o.

G(__x)=lnx, WL .
Gx}+GYyy=G(xy);

" G(x)~G(y)=G(%).

F(x)y=Ilg(x+1),
Fyr-2)—-Fy—-2y=F(y).

.f(x)=%(a‘+d*“),(0>0,a=#1), ES

Flx+yg)t f(x—yr=z2f(x)f(y).



1.28

1,30

Feo=f(

"

e

K

b E]
f(x)_aiibe ]

Flyd+ f(~y), Hirm
FQx)—f(—2x)=[F(x) ) = [ f(—x)]2,

0, ng‘(l,
ﬂw=§§,x=L
1, 1<<x=2

fo, 1(3), s, H2) ro.

2%, —1<Cx <0,
p{x) { < x <1,
=1, 1Kx<3,
P(3)s @(2), p(0), ©(0.5), p(—~0.5),

lsinx|, |x|<1,

‘pmz{ 0, x| 31,

(1), qa(%), cp(—%), @(;2).__.

f)=-2, f(3)=5, RAKRYK
f(x)=ax+5b,

fl=2=2, f(0)=1, f(1)=5, 2? ﬁcﬁﬂ_ﬁaﬁ&
Jlx)y=ax*+bx+e,

HEMEH f(xIEX 7 KF[—5, 5] F, RRHE

SX8 ) WA, Hf f (o=xtmx i3,

131 & f(2) BEMER: f(x+p)=Fx)+ f(y), mmﬁ
FO)=0, Pf(x)=f(Px) (PREBELEEK).
1,32 RBET 51 B E X,

n

y=J3x+4,



-1

2) y—x_zi
— 2%

B v= et
N

‘(4) y_ x2+1 H

(5 y=i-JiFa,

) y=A=]x] ,

{7y =m'1—_—1;

(8) y=lg(1+x);

{9y y=lg(x+/x2*+1 )

1+ %
1—x

(10) y=%lg ;

(11) y=lg(ix —4 +.J6—x );

— ot % 4.1
{12) y=J2+=x +1g(1—x)’
(13) y=d1—x +J/x+1;,
{14) y=J(2+x)(3—x) ,

(15) y =

I ——
J24 2 — %*
1

J4-xt
17) y =log2(log2x),

(1) y =Jx*—1 +

.
x

18y y=-"_,

{19) y =ctgfx,



(20) y=lgsinx;

(21) y=Ilg{1—2cosx);

(22) y =arccos2x 3

(23) y=arcsin(2-+3");,

(24 y=J3—=x +arcsin—3:-:52-x-;

1.33 BRANSHALETHED R Z2I0BRE RLEAS
1

sz;gtzﬂélﬁﬁ, Bl (1) IR A E XA (2) R

s =%ng ) 7 X 39 A4 7

1.34 THRIZE, HEf(x)5g (x)EERRA?

(1) F(x)=lnx*, g(x)=2lnx;
_JEeT L EET
(2) f(x)-—‘ﬁs Q(x)—J % —2 3

(3) Ff(x)= x*—x*, g(x)=x,\3/x—1 .
1,35 BMly =arcsinu, a=e", v=—J/x, Ry EAHx
IR ¥,

1.36 Ba@iy=J/1+a*, u=sinv, v=log,x, R B yHEX N

x B 5K,
1.37 FTHROSEHhH SRS REESHR?
(1) ¢ =f2_—?;

3x
=0 .
(2) vy S 3

(3) y=27" (x>0
(4) u =1gsiﬂx;
(5) y =sin®5x;



(6) y=arctg(cose‘ﬁ),_
(7> y =In*lnx?, |
(8) y=arcc05Jﬁ_;Zrﬂ.
138 % y=f(0 WEXER0, 1], i
(1) - flx)y (2) f(sinx);
(3 f(x+4a)  (a>0); _
() F(x+a)—f(x—a)  (a>0);
WX IR R 47 .
1,39 ®& flo=—L1_ RF[FOIREFA.

1—x°
140 & f=xtl, eo=t R fleeoal
1.41 & p(x)=x% p(x)=2%
K ople(xn)], ply], ele(x)], ¢le(x)],

. __ax+b _ dx+m
1.42 & f(x)*'— cxta’ ‘P(-”‘)—-—m;

H bic=m:n, {£tH [fle)]I=¢[f ()], _

1,43 &  fo=f{fl-fOl}, #F fx)=a+bx,
S

r ik

br—1

b—1

.44 SF—BRG a ENBRKE, HEEAREEEN

M8, RIBHREEHNAR—T BN, RBEILILEHER

SBENFRARAIWERLR.

1.45 ER® I(=2) HER, ABHEEENERV ELE

MR b B R B RER.

1.48 wHFRM 10 LRI HREBRE, KH A&, W

BRG], CRFENBRNMS R RETBEFHTFERAS

7

T flx)=a- 4 brx,



MERE R r 2B ER, |
1.47 & M ABEAHYAF OB LH—&, & OM HEs
5 OM WKBEYFRIEH, XE8H OM= rﬁﬂﬁﬁ%si
ﬁ,ﬁXOMWEEEﬁEWN%Eo

1.48 —%ﬁﬁE%Lm.E%mﬁmk¢5%ﬁ@mWEF
mE%,Lﬁﬁﬁﬁ,ﬁ%ﬁut&%ﬁﬁﬁmﬁmﬁ%z
Wy B NIEHERNERXE.

1.48 EXN=KBHERLAKS NS L, Ry HEHELS
REIEA, RE=AFREHER RS, FREFT L,
1,50 REILB—&Kih, {450k, wmR~4m @ 1-1 pr
Ny AT R RRAE M KA R (B Kk E 1), ®
TIRBEAMPSRE FIRERS, BEHANSEY, B LR
HRFT KR T AP IHBRE R ERERAR, i HEK
T(x) ME XK |

1.51 BEREERrHBABEA—RNER & (NE 1-2), BE
FERE R BAER, 3FREBERE T X,

1.52 J& AC=b, & BD=h =A% ABC W1, (AE1-3)
WEER KLMN, HEidk x, #5EE> Bk p 1 2 @H
s R By x K.

L53 E—EEEE, BERLLEEROA al—RBEERK
—RREE (LA 1-4), REXFERE BEY e WEK.

8



M t-3 B 14

1.54 —RRAEERRr, EAUTROESE (M ELIS5), &
HBREHFAESORE, HRIL BB E L,

1.85 HERE ABCD (ME1-6), ERWESHY AD=a
MBC=5b(a>b), X HB=h, B|H&H MN JBH, MN
54 A WEER AM=x <o<x<a),#%ﬁﬁ$rf\1ﬁracﬁf%MN
ZERMEH s EH X HEHE,

B 1-5 & 1-6

1.56 =AM, ERSBST 3k, 2k, 1%, MRS
LA, BEHRE—XEE (WE1-7), BEx

(—oolx {Aoo) BHEFF(ER ABELEHETRED,
AHAEHSMER s £ HEE x LK.
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1.57 BMERSER (LK 18~ 1 1), SHENs

TRk R,
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1.58 SRF T % i BLE 3 & X 1) A A 4
1) y=x% (—1,0)
(2) y=%, 0,1

(3) y=2" (0,+o0)
(1) y=lgx, (§,+o0);

(5) y=sinx, (Oy'f’)!.

(6) y=clgx, (0, )

*1.59 RIFEE y =25 +sinx X ( —oo,-+o0) NREH

M mE X :

1.60 % @(x), w(x)&f(x)yb$-ﬁi§%§i, EHE
() (2)<p(x), -

W @le(0)IFLF(x)]<plgp ()],

1.61 %ET%%&¢%*%$@&?$@%ﬁE&?%@%

e e
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